1/2" RAD. (TYP.)

[T2=05 ] (Roww)

5 fro)
I
) =
| o~
‘ 6 7/8" | \_(
{'~1 3/4" | (2 SLOTS REQUIRED)
= |
> —PS—01
| ‘ |
o)
TYP.
1/4] ;
90_ ©
SE
)
\ o
7 T2-02
©
=
| |
ey i
[T2-Ps-01] !

SHIPPING | i | unit
ITEM }\w‘ PC. MK. |QTY. MATERIAL REQ'C | DESCRIPTION WT
72-PS-01 | 2 ACCESS TUBE PIPE SUPPORT ASSEMBLVI 15
| ] 12-00 1| AN 5" x 3" x 1/4" x 16" LG HORIZ. SUPPORT
[ ] 12202 | 1 [eH ©4x 7.25 x 9 13/18” 16 HORIZ. SUPPORT
==
12-05 [ 2 By 7/8" DIA. U-BOLT FOR 12" PIPE (S.S.)|
12-06 | 2| PL 1/4" x 8" SQ. (ROLL) 7. RE
12-08 | 8 | BY 7/8" DIA. — 9 UNC HEX NUTS (S.5.)| HEX NUTS
T2-09 [ 4 | BY FOR 7/8" DIA. BOLT (S.S.) WASHER
T2-10 2 BY 5" x 1/8" RUBBER GASKET x 3'-4" LG. | ISOLATION WRAP
o1t 4 BY  1-PIECE SLEEVE AND WASHER FOR 7/8" DIA. BOLT | BOLT ISOLATOR
|
NOTES:

1 T2—01 MAY BE FABRICATED USING 5" x 3" x 1/4" ANGLE OR 1/4"
BENT PLATE

2. U-BOLTS, NUTS AND BOLTS TO BE 304 SS.

| R=6 7,/16"

|
NESTR S

‘ F72-09 Jrve.
L_/ [
4) 7/8"=9 UNC =
) /HEX NuYS\%» o |
SEmB! S
| A |28
= T2-08 |1ve «F |
:
-0 7/8"
1'—1 3/4" |
AS-BUILT
REV.] BY: | DATE REMARKS

Since 1887
Water - Energy - Industrial

FRANKLIN COUNTY, VIRGINIA
500,000 GALLON PEDESPHERE

BY: 1 rvaag | TMs SUPPORT DETAILS

DATE: DRAWING NO.:
04 /24 /20 E-8884 TMS2




